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BATE 1602 1900 1985 3885 8 8 2 2 5 3 1 0

B3 | 5836 | 6900 | 6958 | 13858 | 37 44 6 6 7 |10 | 2 1

Y LT 1]
B By S s E AR e R




BT ARZ T AT PR
¢ ERF113£3?

% 8k 5841 2R A Tk 138454
RAXAHK:ITIX (TH REKX 1244 5Ly RER 1554)
Md A4 (22 FE A EBEEF 0% 5 hRLA)
= A9k
BHEE8H (RBRAM: A HEFRLL HRLR)
BapEE 08 (Pl @A AP %0% 5 PR0R )
i!ﬁ;i;&;&:?ﬁ& 33;1;&&:48&

2 sH | AT (F) | A (R B | E@adk | B AR | AR (N2 |2 (B (BE
RE 2 765 901 915 1816 6 3 1 1 1 2 1 0
REY 931 1055 998 2053 8 11 9 4 1 0 3 0
ik 2 1072 1308 1344 2652 4 12 1 | 3 1 1 0
Fu 2 210 230 244 4741 1 0 0 0 0 0 0 0
i 1260 1499 1469 2008 4 10 6 6 2 2 2 0
BATE 1603 1896 1986 3882 12 12 6 T 2 4 1 0

B3 | 5841 | 6889 | 6956 | 13845 | 35 48 19 19 9 9 8 0

Y LT 1]
B B scE AT ACE PR R




BT ARZ T AT PR
P ERFII3E£4?

> T3 - 8 H846~ 24 v Bl 138434
RAXA#K 804 (¥ REAK 244 5Ly RER 1564)
N2 A#I124 (22 FB: A HBRFERLL  HAR0X )
Fe = &;@;:14&
BREE 28 (RBRAM: A HF R0R 5 PRNL)
BRAHE I IH (RBRASL: ABEPRLL D AROR)
FTRMATAH:3IIL BN Ak 33

2 5 sl | AT (F)[Av(E)| Bavr | d@rdk | @ddk| Agr | B (|02 B |BE |5
g2 764 904 920 1824 6 3 5 4 5 1 0 0
&g 932 1051 1003 2054 8 8 0 0 2 1 1 0

ik 2 1073 1307 1343 2650 3 5 3 | 2 4 0 1
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